

$$\begin{split} \|\vec{r}_{1} - \vec{r}_{0}\| + \|\vec{r}_{1} - \vec{r}_{1}\| + \dots + \|\vec{r}_{N-1} - \vec{r}_{N}\| \\ &= \|\vec{r}_{1}(t_{1}) - \vec{r}_{1}(t_{2})\| + \dots + \|\vec{r}_{1}(t_{N-1}) - \vec{r}_{1}(t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})(t_{1} - t_{2})\| + \|\vec{r}_{1}(t_{1})(t_{2} - t_{2})\| \\ &+ \dots + \|\vec{r}_{1}(t_{N-1})(t_{N} - t_{N-1})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{1})\| (t_{2} - t_{1}) + \dots \|\vec{r}_{1}(t_{N-1})\|(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{1})\| (t_{2} - t_{1}) + \dots \|\vec{r}_{1}(t_{N-1})\|(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{1})\| (t_{2} - t_{1}) + \dots \|\vec{r}_{1}(t_{N-1})\|(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{1})\| (t_{2} - t_{1}) + \dots \|\vec{r}_{N}(t_{N-1})\|(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{1})\| (t_{2} - t_{1}) + \dots \|\vec{r}_{N}(t_{N-1})\|(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{1})\| (t_{2} - t_{2}) + \dots \|\vec{r}_{N}(t_{N-1})\|(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{1})\| (t_{2} - t_{2}) + \dots \|\vec{r}_{N}(t_{N-1})\|(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{2})\| (t_{2} - t_{2}) + \dots \|\vec{r}_{N}(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{2})\| (t_{2} - t_{2}) + \dots \|\vec{r}_{N}(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{1} - t_{2}) + \|\vec{r}_{1}(t_{2})\| (t_{2} - t_{2}) + \dots \|\vec{r}_{N}(t_{N} - t_{N})\| \\ &= \|\vec{r}_{1}(t_{2})\| (t_{2} - t_{2}) + \|\vec{r}_{1}(t_{2})\| \\ &= \int_{t_{N}}^{t_{N}} |\vec{r}_{1}(t_{2})\| (t_{2} - t_{N}) \\ &= \int_{t_{N}}^{t_{N}} |\vec{r}_{1}(t_{2})\| dt \\ &= \int_{t_{N}}^{t_{N}} |\vec{r}_{1}(t_{N})\| d$$

length of curve = 
$$\int ||\vec{r}'(\tau)|| d\tau$$
.  
 $\vec{r}(\tau) (a \le t \le b)$  a

In coordinates:  $\vec{r}(t) = (x(t), y(t), \geq (t))$ 

$$= \int_{a}^{b} \sqrt{(x'm)^{2} + (y'm)^{2} + (z'y)^{2}} dt$$



G

Assume that S is known and  

$$\vec{r} = \vec{r}(s)$$
 is such that  
length of curve  
between  $\vec{r}(s_1)$  and  $\vec{r}(s_2)$  is  $|S_2-S_1|$ .  
Consider derivative  
 $\vec{T}(s) = \frac{d}{ds}\vec{r}(s)$   
Note that  $||\vec{r}(s+u) - \vec{r}(s)|| \approx h$   
 $\vec{r}(s+u) = \vec{r}(s) || \approx h$   
 $(|\vec{r}(s+u) - \vec{r}(s)|| \rightarrow 1$  as  $h \Rightarrow 0$   
 $\vec{h}$   
Thus  
 $||\vec{T}(s)|| = h^{20} ||\vec{r}(s+u) - \vec{r}(s)|| = 1$ .

D



The vector Nisi is called the principal hormal (vector) at the point r(s) Fortien Keppen is the Curve tune.  $\frac{d}{ds}\vec{T}(s) = \mathcal{F}(s)\vec{N}(s)$ K(s) can be thought of as the rotation rate of the vector  $\vec{T}(5)$  as one varies s (moves along the curve) Nest directed in directed Nest plat come is concare



To find the curvature, we must change to the arc length parametrization. "+" is not this parametrization.  $S(t) = \int_{1}^{t} |\sqrt{r}(t)| dt = \int_{0}^{t} |\sqrt{r}^{2}(1)^{2}t + \frac{2}{r}(r)^{2}t dt$   $P^{2}(1)^{2}t + \frac{2}{r}(r)^{2}t dt$   $= \int_{0}^{t} dt = t P.$   $\int_{0}^{t} dt = t P.$ To this end, we find (Ength from v to t. Thus  $t(s) = \frac{s}{B}$  (inverse function). Now parametrication  $\vec{r}(S) = \vec{V}(x(S)) = \left( P \left( \cos\left(\frac{s}{e}\right), P S \left(\pi\left(\frac{s}{e}\right), 0\right) \right)$ 

drisi\_ (-sin ( ), cos ( ), o)  $\frac{d\vec{v}}{ds} = T(s)$  $\|\frac{d\bar{v}cs}{ds}\| = \|$ r"(s)  $\frac{d}{ds} \vec{T}(s) = \left(-\frac{1}{p}\left(os\left(\frac{s}{p}\right), -\frac{1}{p}sin\left(\frac{s}{p}\right), 0\right)\right)$  $= \frac{1}{p} \frac{1}{N(s)} = -\frac{1}{p} \frac{1}{p} \frac{1}{r(s)}$ where  $\tilde{N}(S) = (-(0) [\frac{S}{p}], - Sm(\frac{S}{p}, 0))$ Note that  $\frac{d\vec{T}}{ds}$ ,  $\vec{T} = 0$ ,  $\sqrt{}$ And  $\kappa(s) = \frac{1}{g} \quad by \quad detinition .$   $\frac{d^2}{ds^2} \cdot \hat{r}(s) = -\frac{1}{g^2} \cdot \hat{r}(s)$ noving with naits speed cuavature -> 0 us g=>0, Since a large circle looks approximately Straight. Generally, such straighterward computations not possible ... (10)

Decomposition of acceleration  

$$P = P(S)$$

$$S = lensth$$

$$P = P(S)$$

$$S = lensth$$

$$P(S)$$

$$P = T(S)$$

Meaning of radius of curvature: C = Curne e cirdes tangent to C at P. each circle is an approximation to the cuove c at p. For different circles, fie quality of the approximation depends on the radius of the curve. In 3d, it can be in different planes. Advang all the circles, three is one that fits the curve C the pest. Romphan (dist between curve and circle -70 as (dist)?. approach P. Quelity of approximation is thrate.) Its radius is cractly f, radius of runghe.

(13)

Given a simple chome  

$$x(t) = (os t)$$

$$g(t) = 2 \sin t$$

$$g(t) = 2 \sin$$

$$\vec{T} = \frac{d\vec{r}}{ds} = \frac{dt}{ds} \frac{d\vec{v}}{dt} \quad (chain rule)$$

$$= \frac{1}{\sqrt{1t}} \frac{d\vec{v}}{dt} \quad (since \frac{ds}{dt} = v(t))$$
Thus we run express unit tangent vector  
by velocity alreaded by abs. value of velocity  

$$\frac{d\vec{T}}{ds} = \frac{1}{ds/dt} \frac{d\vec{T}}{dt} = \frac{1}{\sqrt{1t}} \frac{d}{dt} \left(\frac{1}{\sqrt{1t}} \frac{d\vec{r}}{dt}\right)$$

$$= \frac{1}{\sqrt{1t}} \left[-\frac{v^{1}(t)}{|v(t)|^{2}} \frac{dv}{dt} + \frac{1}{\sqrt{t}} \frac{d^{2}}{dt^{2}} \frac{\vec{v}(t)}{\vec{v}(t)}\right] \quad (Leibnitz rule)$$

$$= -\frac{v^{1}}{\sqrt{3}} \frac{\vec{v}}{v} + \frac{1}{\sqrt{2}} \frac{\vec{a}}{\vec{v}} \quad on one hand...$$

on other hand...

$$d\vec{T} = k N.$$

Thus we found  $-\frac{v'}{\sqrt{3}}\vec{v} + \frac{1}{\sqrt{2}}\vec{a} = \kappa \vec{N}$   $Isolating \vec{a}:$   $\frac{1}{\sqrt{2}}\vec{a} = \frac{v'}{\sqrt{3}}\vec{v} + \kappa \vec{N}$ 

cr  $\vec{\alpha} = \frac{v'}{v}\vec{v} + v^2 \kappa N$ then  $\vec{v}_{1} = \vec{v}_{11} = \vec{T}$ . Thus No fe centripetal fure.  $\frac{dv}{dt}$   $\vec{T}$  t  $\vec{N}$   $\vec{N}$ (speed) (inverce) - R -(unit monal) A scelar acceberation (compof accervation along the road  $\vec{a} = \vec{a}_{t} + \vec{a}_{N}.$ 

must extract from here k and N. We  $\vec{a} = \frac{dv}{dt}\vec{T} + v^2 k \vec{N}.$ Crossing with F, we find  $\vec{T} \times \vec{a} = \frac{dv}{dt} \vec{T} \times \vec{T} + \vec{v} \times \vec{T} \times \vec{N}$  $= v^2 \kappa T \kappa N$ As T is a noit tangent, and N is mit normal, orthogonal to T, the vector  $\vec{B} = \vec{Z} \times \vec{N}$  (binormal) 7 and N and length I. is orthogonal to both y y  $\vec{B} = (0,0,1) = \vec{k}$ for the wait circle It is the same for all points on the circle.

Thus we find  

$$\overrightarrow{T}_{x}\overrightarrow{a} = v^{2} \ltimes \overrightarrow{B}$$
.  
Now we find  $\ltimes$ . Recall  $\overrightarrow{V} = v \overrightarrow{T}$ .  
 $\overrightarrow{V}_{x}\overrightarrow{a} = v \overrightarrow{T}_{x}\overrightarrow{a} = v^{3} \ltimes \overrightarrow{B}$ .  
 $||\overrightarrow{V}_{x}\overrightarrow{a}|| = v^{3} \ltimes ||\overrightarrow{B}|| = v^{3} \ltimes$ .  
 $||\overrightarrow{V}_{x}\overrightarrow{a}|| = v^{3} \ltimes ||\overrightarrow{B}|| = v^{3} \ltimes$ .  
Since  $||\overrightarrow{B}|| = |$ . Thus

$$k = \frac{\|\vec{v} \times \vec{a}\|}{\|\vec{v}\|^3} = \frac{\|\vec{v} \times \vec{a}\|}{(\vec{v} \cdot \vec{v})^{3/2}}$$
New we can take any parametric curve,  
 $\vec{v}$ (t), find  $\vec{v}$ (t) =  $\vec{r}$  [t] and  $\vec{a}$ (t) =  $\vec{r}$ "(t)  
and thereby find the curvature.

Example:  

$$\vec{r}(t) = (t_1 t_1^2 t_1^3)$$
.  
 $\vec{v}(t) = \vec{r}'(t) = (1_1 2 t_1^3 t_1^2)$   
 $\vec{a}(t) = \vec{r}''(t) = (0_1 2 t_1^2 t_1^2)$   
 $\vec{v} \cdot \vec{v} = \begin{bmatrix} \vec{i} & \vec{j} & \vec{k} \\ 0 & 2 & 6t \end{bmatrix} = \vec{i} (12t_1^2 - 6t_1^2)$   
 $\vec{v} \cdot \vec{v} = [t_1 + 4t_1^2 + 9t_1^4]$   
 $\vec{v} \cdot \vec{v} = [t_1 + 4t_1^2 + 9t_1^4]$   
 $\vec{v} \cdot \vec{v} = [t_1 + 4t_1^2 + 9t_1^4]$   
 $\vec{v} \cdot \vec{v} = [t_1 + 4t_1^2 + 9t_1^4]$ 

Note K(0) = 2.

How to find the principal normal N? Return to our Formula:

$$\vec{a} = \frac{dv}{dt}\vec{T} + v^2 k \vec{N}.$$

We know that  

$$\vec{v} \times \vec{a} = \vec{v} \times \vec{B}$$
 (since  $\vec{v} \times \vec{T} = 0$ )

$$(\vec{T}, \vec{N}, \vec{B})$$

$$\vec{T} \cdot \vec{N} = \vec{B}$$

but also

$$\frac{1}{12} \times \frac{1}{12} \times \frac{1}{12}$$

form a right triple.  
of orthogonal anit nectors  

$$\|F\| = \|N\| = \|B\| = 1$$
  
 $T \cdot N = 0$   $T \cdot B = 0$   $N \cdot B = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{T} \cdot \overline{B} = 0$   $\overline{N} \cdot \overline{R} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{T} \cdot \overline{B} = 0$   $\overline{N} \cdot \overline{R} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{T} \cdot \overline{B} = 0$   $\overline{N} \cdot \overline{R} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{T} \cdot \overline{B} = 0$   $\overline{N} \cdot \overline{R} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{N} \cdot \overline{R} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{N} \cdot \overline{R} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{N} \cdot \overline{R} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{N} \cdot \overline{R} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{N} \cdot \overline{P} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{N} \cdot \overline{P} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{N} \cdot \overline{P} = 0$   $\overline{N} \cdot \overline{P} = 0$   
 $\overline{P} \cdot \overline{P} = 0$   $\overline{P} \cdot \overline{P} = 0$   $\overline{N} = 0$   $\overline{$ 

Thus to find 
$$\vec{N}_{I}$$
  
 $\vec{N} = \vec{B} \times \vec{T}$   
 $= \vec{B} \times \vec{V}_{\|\vec{V}\|}$   
 $= \left(\frac{\vec{V} \times \vec{n}}{|\vec{V} \vee \vec{V}|}\right) \times \frac{\vec{V}}{\vec{V}} \quad \left(\text{Since } \vec{B} = \frac{1}{|\vec{V} \vee \vec{V} \times \vec{N}|}\right)$   
 $= \frac{1}{|\vec{V} \vee \vec{V} \times \vec{N}|} \times \vec{V} \quad \left(\text{using } k = \frac{11}{|\vec{V} \times \vec{A} \vee \vec{V}|}\right)$   
Thus we found the formula  
 $\vec{N} = \frac{(\vec{V} \times \vec{n}) \times \vec{V}}{|\vec{V} \times \vec{N}| \times \vec{V}} \quad \left(\frac{\text{since } \vec{V} + \vec{V} \times \vec{A} \vee \vec{V}}{\vec{V} \times \vec{V} \times \vec{V}|}\right)$   
 $= \frac{1}{|\vec{V} \times \vec{N}| \times \vec{V}} \quad \left(\frac{\text{since } \vec{V} + \vec{V} \times \vec{A} \vee \vec{V}}{\vec{V} \times \vec{V} \times \vec{V} \times \vec{V}}\right)$   
Thus we found the formula

Z

Plane curves 
$$\vec{r}(t) = (x(t), y(t), 0)$$
  
Let us restrict further to  
consider our curve to be the are visualized  
graph of a function  $M = 3D$ .  
 $\vec{r}(t) = (t, f(t), 0)$ 

$$\vec{v}(t) = \vec{r}'(t) = (1, t'(t), 0)$$
  

$$\vec{a}(t) = \vec{r}''(t) = (0, t''(t), 0)$$
  

$$v(t) = \|\vec{v}(t)\| = (1 + (t'(t))^2)$$

Unit tangcht vector:  $\frac{-2}{T(t)} = \frac{\sqrt[3]{t}(t)}{V(t)} = \frac{-1}{V(t)} \left( 1, \frac{1}{t}, 0 \right)$ Chrvafune  $= \frac{|f''(+)|}{(1+(f^{1})^{2})^{3/2}}$ 11 V x q 11 V3 Since -7 x 9 = vector Binormal  $\frac{dv}{dt} \vec{T} + kv^2 \vec{N}$ venember  $= B^{2} = \frac{\sqrt{xa}}{\sqrt{xa}}$ Thus  $\vec{v} \times \vec{a} = k \sqrt{3} \vec{B}$ Thus  $\vec{B} = \frac{\vec{v} \times \vec{a}}{\|\vec{v} \times \vec{a}'\|} = \frac{f''(t)}{|f''(t)|} \vec{k}$ 

(2)

Numal vector  

$$\overline{N} = \overline{B} \times \overline{T} = \frac{\pi^{41}}{|\overline{F}'|} \widehat{E}_{X} \overline{T} = sgn(\overline{T}') \overline{E} \times \frac{(1, \overline{F}', 0)}{\sqrt{1 + (\overline{F}')^{2}}} = \frac{\pi^{41}}{|\overline{F}'|} \widehat{E}_{X} \overline{T} = sgn(\overline{T}') \overline{E} \times \frac{(1, \overline{F}', 0)}{\sqrt{1 + (\overline{F}')^{2}}} = \frac{sgn(\overline{T}'')}{\sqrt{1 + (\overline{F}')^{2}}} | (\overline{F}' \circ 0) - (\overline{F}' \circ$$

Thus we found: r(+) = (+, \$(+), 0) k(t) = |f''(t)| $(1 + (f'(x))^2)^{3/2}$  $n(t) = \underline{sgn}(f'(t))(-f'(t), 0)$  $\sqrt{|+(p')^2}$  $f(t) = t^2$ Example :  $k(t) = \frac{2}{(1 + 1 + 2)^{3/2}}$  $\vec{N}(t) = (-2t, 1, 0)$  $\sqrt{1+44^2}$ NKI

Oscular circle



Oscular circle: circle whom realer  $\vec{R}$ t) is on the 1ihe through  $\vec{r}$ (t) in the dimension of  $\vec{N}$ (t) i.e.  $\vec{R}$ (t) =  $\vec{r}$ (t) +  $\vec{p}$   $\vec{N}$ (t) The equation

 $\|\vec{u} - \vec{p}[t_1]\| = f(t_1)$ requation for osculating circle.

Vadius = exactly rodius of curvature fangent clist between parapola and circle, decneases like squae of dist. catively above parabola. Osculating circle: on one side, it is over parabola. On other, it is under. distance to parabolo behaves as the cube of the distance